X CLASS
SOCIAL STUDIES
FORMATIVE TEST – II (SLIP TEST)
Marks : 20                                                                                                                                                                                          Time : 45 min.
I. Select the correct answer and write down in the bracket.                                                                                                       4 x ½ = 2 M
 1. Among the following this does not belongs to Organised Sector                                                                                                         (     )
  A. Carpenter                                         B. Teacher                                       C. Doctor                                       D. Engineer
 2. Final good                                                                                                                                                                                                       (     )
  A. Car                                                     B. Steel                                             C. Glass                                          D. Wheals
 3. In his famous novel, ‘Animal Farm’, George orwell described                                                                                                              (     )
  A. How the agricultural production development in Russia.                 B. How Russia achieved full employment for all its citizens.                                  
  C.How the ideals of Russian Revolution were compromised in USSR.  D. How Russia was able to escape the effect of  depression
 4. Which among the following was not true in the context of second world war ?                                                                              (     )
  A. USSR emerged as a champion of anti-colonial struggles               B.Colonial power could no longer justify their colonial policies                  
  C. The industries of USA were highly damaged                                    D. The worst effected were the European countries
 II. Answer the following questions in one or two sentences.                                                                                                     4 X 1 = 4 M
 5. What is ‘Disguised Unemployment’ ?
 6. Name two reforms of Stalin ?
 7. For economic revive, what suggestion given by J.M.Keynes  ?
 8. What is ‘Jet Stream’ ?
III. Answer the following questions in four or six sentences.                                                                                                      3 X 2 = 6 M
 9. Observe the diagram and answer How does ‘land water relationship’ moderate the temperature of the place ?
       [image: ]
10. “in the winter time, at 40 degrees below, people had to climb down from the forth floor and dash across the street in order 
       to go the toilet.” What is the cause for this condition in Russia ?
11. Observe the below ‘pie’ chart and analyse it.
       [image: ]







IV. Answer any two of the following Questions.                                                                                                                            2 X 4 = 8 M
12. Observe the  Climograph and answer the following questions. 
	[image: ]


i. Which month received highest rainfall ?
ii. Which months experience highest and 
    lowest temperature ?
iii. Why is the maximum amount of rainfall 
     between June and October ?
iv. Why is the temperature high between 
      March and May ?
13. Observe the diagram and answer the following question. 
	



In What ways were Jews persecuted during the Nazi Germany ? Do you 
 think in every country some people are differentiated because of their 
 identity ?
14. A study in Ahmedabad found that out of 15,00,000 workers in the city , 11,00,000 workers are in the unorganized sector. The 
        total income of the city in this year (1997-1998) was Rs.6000 crores. Out  of this Rs. 3200 crores was generated in the 
        organized sector. Present this data as a table. What are the ways for generating more employment in the city  ?
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